Calculate the area of each of the lettered shapes. Dpate: Name:

If necessary, please round your final answers to 2 d.p. http://www.learnersgrid.com
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If necessary, please round your final answers to 2 d.p.

Area of R =

Area of S =

Areaof T =

Area of U =
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If necessary, please round your final answers to 2 d.p.

Area of V =

Area of W =

Area of X =

Areaof Y =

5m

If necessary, please round your final answers to 2 d.p.

Areaof Z =

Areaofa =

Area of b =

If necessary, please round your final answers to 2 d.p.

Areaofc=
Areaofd=
Areaofe=
Area of f =

Areaof g =
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If necessary, please round your final answers to 2 d.p.

Area of h =
Areaofi=

Area of j =
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If necessary, please round your final answers to 2 d.p.
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Calculate the area of each of the lettered shapes. AN SWE RS
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If necessary, please round your final answers to 2 d.p.
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Area of A = 144m?

Area of B = 72m?

o B ; S
= § B : - Area of C = 108m?
. t Area of D = 80m?

Area of E = 16m?

Area of F = 16m?

Area of G = 32m?

Area of H = 12.5cm?

Area of i = 12.5cm?

Area of J = 18.75cm?

Area of K = 12.5cm?

Area of L = 101.25cm?

Area of M = 20.25cm?

Area of N = 60.75cm?

Area of O = 36.75cm?

Area of P = 61.25cm?

Area of Q = 12.25cm?
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Area of R = 160m?

Area of S = 64m?

Area of T = 96m?

Area of U = 256m?
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Area of V = 22.69cm?

Area of W = 13.23cm?

Area of X = 15.13cm?

Area of Y = 17.02cm?

> 25m

Area of Z = 26.56m?

Area of a = 12.5m?

Area of b = 17.19m?

Area of ¢ = 40cm?
Area of d = 24cm?
Area of e = 32cm?
Area of f = 28cm?

Area of g = 20cm?

poe |
e E

i DER

| D rtsm

Area of h = 66.8m?
Area of i = 45.7m?

Area of j = 14.06m?
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: Area of k = 3.25m?
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—— 41 | Areaof|=1.75m?
'LLST s i Area of m = 1.5m?
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| i Area of n = 2.5m?
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Area of 0 = 14.52m?

S S| Area of p = 10.89m?

i S Area of q = 10.89m?

Area of r = 7.26m?




